Quiz # 2 Name: m

Date: 8/9/2022
Math 54: Fall 2022

Problem 1 - 7 Points

3 1 2
Determine if {5] is in the span of [ 3 ] and { 1] . If so write it as a linear combination of the
8 —2 3
two vectors.
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Problem 2 - 7 Points

Let the following vectors be given

e[ o [1] o[

Find all values of h such that {v1, vo, v3} do not span R3. )

[ X P B = w dz.\w% t\Aw@wa aj (y_, v, v

2 2 -4 3 LT
(-t 3 2 3¢ 0 § -2



Problem 3 - 6 Points

Determine whether the following statements are True/False. If True explain why, if False provide a
counterexample.

1. A homogeneous system is always consistent.
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2. If S is a linearly dependent set of vectors, then each vector in S is a linear combination of the
other vectors in S.
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3. Columns of a 3 x 2 matrix can never span R3.
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